Exercise 1.2

1 Work out the following. Answers may be left as improper fractions.
4 5 7 4
a —x5 b —x3 c —x2 d —x3
(a) =% (b) T (c) 5 (d) T
8 8 6 6
e —=+4 — =3 ke h — =5
(e) T () T (9) 7 (h) Z
. 3 . 55" 5
0 P 0 Zy K sx ) =y
y y 4y 6y
5x y* 6x%y’ 5a°
m —x3 n 2 0 +2 +2
(m) » x (n) P (o) - xy (p) P
2 Make x the subject of the following formulae.
@ d4=m’ () V=izxX’ () i1@t+v)=&x (d) W=2zx’h
3 Write as single fractions.
2 1 2 1 1 1 3
a —F b ———— {8 - d +1
@ x—1 x+3 ®) x-3 x+2 (©) 2x—1 3x+2( ) x+2
1 2x 3 1
e 2—— =3 —
() x—1 ® x+1 ©) 42x-1) 4x*-1
Further Maths Only
4* Write as single fractions.
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